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QUESTION 1

You issue this command to create a table called LOB_STORE:

CREATE TABLE lob_store

(lob_id NUMBER(3),

photo BLOB DEFAULT EMPTY_BLOB(),

cv CLOB DEFAULT NULL,

ext_file BFILE DEFAULT NULL)

/

What is the outcome?

A. The table is created successfully.

B. It generates an error because DEFAULT cannot be set to EMPTY_BLOB() during table creation.

C. It generates an error because DEFAULT cannot be set to null for a CLOB column during table creation.
D. It generates an error because DEFAULT cannot be set to null for a BFILE column during table creation.

Correct Answer: A

QUESTION 2

Which two reports can be retrieved by using the various procedures in the DBMS_METADATA PL/SQL package?
(Choose two.)

A. DDL report for all objects dependent on a table

B. DDL report for all the objects stored in a tablespace

C. DDL report for all the invalidated objects in a schema

D. data definition language (DDL) report for all the tables in a schema

Correct Answer:. AD

QUESTION 3

Which two statements are true about associative arrays and nested tables? (Choose two.)
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A. Only associative arrays can hold an arbitrary number of elements.

B. Only associative arrays can use numbers and strings for subscripts.

C. Both associative arrays and nested tables can hold an arbitrary number of elements.
D. Both associative arrays and nested tables can use numbers and strings for subscripts.

Correct Answer: BC

QUESTION 4

Examine the structure of the DEPARTMENTS table.

CREATE OR BREFLACF PACFAGE emp data AS
THEEE typ emp rec I3 RECORD

(laool uans VARCIARE (20},

dert name WARCHAPRZ (3077 ;

TY¥EE rt emp I35 EEF CUR3OR BEIUBRN typ Emp

ERCCEDURE get enp
(p_empid IN NUMEER, p cv_emp IN OUT b

ENC;
!

2

CEREATE CR FREFLACE PACHAGE ElDD‘x'édata A3
PROCEDURE get emp

id TN NUMEEE, ouT =L
(p_emp1 p_cv_‘% rt smp)
Ia %

EBCIN %
OEEN p_ev_esmp FOR g0

SELECT last nane, gii

FRCOM employs _.:._'\“l dEpErtments UaING (department id)
WHERE e fe= 1d = p enpid;
CIOBE p cv %
END I
END:
/

Name Null? Type

DEPARTMENT_ID NOT NULL NUMBER(4)

DEPARTMENT_NAME NOT NULL VARCHAR2(30)

LOCATION_ID NUMBER(4)

View the Exhibit and examine the code that you plan to use for creating a package to obtain the
details of an employee using a host variable on the client side.

In SQL*Plus, you plan to use the following commands:
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SQL> VARIABLE x REFCURSOR

SQL> EXECUTE emp_data.get_emp(195,:x)

SQL> PRINT x

Which statement is true about the above scenario?

A. The package executes successfully and passes the required data to the host variable.

B. The package specification gives an error on compilation because cursor variable types cannot be defined in the
specification.

C. The package specification gives an error on compilation because the cursor variable parameter was specified before
you defined it.

D. The package executes successfully, but does not pass the required data to the host variable because the cursor is
closed before the PRINT statement runs.

Correct Answer: D

QUESTION 5

Which two are major approaches that can be used to reduce the SQL injection by limiting user input? (Choose two.)
A. Restrict users accessing specified web page.

B. Use NUMBER data type if only positive integers are needed.

C. Use dynamic SQL and construct it through concatenation of input values.

D. In PL/SQL API, expose only those routines that are intended for customer use.

Correct Answer:. AD

QUESTION 6

In which two situations is the body of a result-cached function executed? (Choose two.)

A. if the memory allocated for the result cache is increased

B. if a session on this database instance invokes the function with the same parameter values

C. if the first time a session on this database instance invokes the function with a parameter value

D. if a session executes a data manipulation language (DML) statement on a table or view that was specified in the
RELIES_ON clause of a result-cached function

Correct Answer: CD
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QUESTION 7

Which two guidelines should be considered when designing and using cursors in a PL/SQL block? (Choose two.)
A. When fetching from a cursor, fetch into a record.

B. When fetching from a cursor, fetch required values into individually declared variables.

C. Whenever possible, explicitly declare the cursor and use the OPEN, FETCH, and CLOSE statements to manipulate
the cursor instead of using the cursor FOR loop.

D. Whenever possible, use the cursor FOR loop instead of explicitly declaring the cursor and using the OPEN, FETCH,
and CLOSE statements to manipulate the cursor.

Correct Answer: AD

QUESTION 8

You created an application context successfully. The user OE was granted the EXECUTE privilege on the
DBMS_SESSION package. The user receives this error while setting the value for an attribute within the context:

SQL> EXECUTE
DBMS_SESSION.SET_CONTEXT(\WSALES_ORDERS_CTX\',\WACCOUNT_MGR\\',\WVOE\\);
BEGIN DBMS_SESSION.SET_CONTEXT(\WSALES_ORDERS_CTX\\,\WACCOUNT_MGR\\',\VOE\);
END;

*

ERROR at line 1:

ORA-01031.: insufficient privileges

ORA-06512: at "SYS.DBMS_SESSION", line 94

ORA-06512: at line 1

What is the reason for this error?

A. The context was created with a package name in the USING clause.

B. The attribute can be set only in the package associated with the context.

C. The package associated with the context did not exist at the time of creation of the context.

D. The value for an attribute of a user-defined context can be set only by the ALTER SESSION command.
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Correct Answer: B

QUESTION 9

The following command is executed to start tracing in a user session:

SQL> EXECUTE

DBMS_TRACE.SET_PLSQL_TRACE(DBMS_TRACE.TRACE_ENABLED_EXCEPTIONS);

Which statement is true about the effect of the command?

A. It allows tracing of exceptions raised by all subprograms executed in the session.

B. It allows tracing of user-defined exceptions raised by all subprograms executed in the session.

C. It allows tracing of system-defined exceptions raised by all subprograms executed in the session.

D. It allows tracing of exceptions raised by subprograms compiled with the DEBUG option and executed in the session.

Correct Answer: D

QUESTION 10

Examine the following settings for a session:

PLSQL_CODE_TYPE = NATIVE

PLSQL_OPTIMIZE_LEVEL =3

Which statement would be true in this scenario?

A. The compiler would automatically inline subprograms.

B. The compiler would inline the code for external subroutines.

C. The compiler would inline the code even if the INLINE pragma is set to NO.

D. The compiler would not inline the code unless the INLINE pragma is set to YES.

Correct Answer: A

QUESTION 11
The PLSQL_OPTIMIZE_LEVEL parameter is set to 2 for the session.
Examine the section of code given:

FUNCTION p2 (p boolean) return PLS_INTEGER IS ...
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FUNCTION p2 (x PLS_INTEGER) return PLS_INTEGER IS
PRAGMA INLINE(p2, \'YES\V);

X = p2(true) + p2(3);

Which statement is true about the INLINE pragma procedure calls?

A. Only the call to the P2 function with BOOLEAN as the argument is inlined.

B. INLINE pragma affects both the functions named P2 and is called inline.

C. Only the call to the P2 function with PLS_INTEGER as the argument is inlined.

D. None of the functions are inlined because inlining is not supported for overloaded functions.

Correct Answer: B

QUESTION 12

View the Exhibit and examine the code in the PL/SQL block.

Latest 120-146 Dumps | 120-146 PDF Dumps | 120-146 Braindumps


https://www.pass4itsure.com/1Z0-146.html
https://www.pass4itsure.com/1Z0-146.html
https://www.pass4itsure.com/1Z0-146.html

. VCE & PDF https://www.pass4itsure.com/1Z0-146.html
E 2021 Latest passditsure 170-146 PDF and VCE dumps Download

PassditSure.com

DECLATE

TYPE nested type IS5 TABELE OF VARCHARZ(30):

TYPE parray type IS VARRAY(5) OF INTESER:

TYPE azsoc array 3tr type 15 TABLE OF VARCHARZ (20) IIDEX BY VARCHARZ (LO):

w1l nested type:;

VE VALTAY Cype;

w3 assoc Aarray str type:

i WARTHARZ(10);

BEGIN
vl 1= nested type('Shipping','3ales', 'Finance! 13
we 1= varray typeil, 2, 3, 4, 53);

wi('Canada') := 'North America': S
wl.JELETE (Z) » 0
VE.IELETE(2); a

i := 71.FIEST;

WHILE i I% NOT NULL LOOF
DEMS_OUTFOT.POT_LTNE (@

i:= w1, NENTIi): \
FWT T.OiNW =
1 :=.9y2.FIRST:

WHILE i IS NOT NULL LOOP

LENS OOTPUT.P (wE(1i)1):
i:= w2 .NEXRTLI
END LOOF:

i = ¢#3.FIEST:

WHILE i IS NOT Loop
LEMS O LPUT_LINE (w3{i)):
ii= w3 NEXT (i) ;

ENL LIOP:

END ;

—t

The PL/SQL block generates an error on execution. What is the reason?

A. The DELETE(n) method cannot be used with varrays.

B. The DELETE(n) method cannot be used with nested tables.

C. The NEXT method cannot be used with an associative array with VARCHAR2 key values.

D. The NEXT method cannot be used with a nested table from which an element has been deleted.

Correct Answer: A
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